To Have

yrBepautenbHoe BonpocurenbHoe OTpuuartenbHoe
Present | have — Y meHs ecTb Do | have — Y meHs ecTb ? | don’t have — Y meHsa Het
You have -Y 1eb1a ectb Do you have - Y 1eba ectb ? You don’t have - Y 1ebsa HeT
He has -Y Hero ectb Does he have- Y Hero ectb ? He doesn't have - Y Hero HeTt
She has -Y Hee ecTb Does she have- Y Hee ecTb ? She doesn't have - Y Hee HeT
We have - Y Hac ecTb Do we have- Y Hac ecTb ? We don’t have -Y Hac HeTt
They have — Y Hux ectb Do they have- Y Hux ectb ? They - don’t have Y Hux Het
Past | had — Y meHs 6bin Did | have — Y meHsa 6bin ? | didn’t have— Y meHa He 6bino
You had- Y 1e6sa 6bin Did you have — Y 1e61 6bin ? You didn’t have - Y Teba He 6bin10
He had -Y Hero 6bin Did he have - Y Hero 6bin ? He didn’t have —Y Hero He 6bino
She had- Y Hee 6bin Did she have — Y Hee 6bin ? She didn’t have — Y Hee He 6b1n10
We had -Y Hac 6bin Did we have =Y Hac 6bin ? We didn’t have - Y Hac He 6bln10
They had =Y Hux 6bin Did they have — Y Hux 6bin ? They didn’t have - Y Hux He 6bIn10
Future | will have — Y meHsa 6yaer Will | have - Y meHsa 6yaert ? | won’t have — Y meHs He bygeTt

You will have - Y 1ebsa byger

Will you have - Y teba 6yger ?

You won’t have - Y Teba He byger

He will have - Y Hero bygeTt

Will he have - Y Hero 6yaert ?

He won’t have — Y Hero He byaeT

She will have - Y Hee 6yger

Will she have - VY Hee byaeT ?

She won’t have — Y Hee He byaeTt

We will have - Y Hac bygert

Will we have - Y Hac byget ?

We won’t have — Y Hac He bygeTt

They will have — Y Hux 6yger

Will they have — Y Hux 6yger ?

They won’t have — Y Hux He 6yger




